. Explain in detail structure and synthesis of
Testosterone.

SRR &l GEHl T8 YAl i faer ¥ 99T

. Give the synthesis and chemical reactions of

Oxiranes.

SFFARAT & TYuU § Tt stfufeansti & aarew|
. What do you understand by (-Condensation ?
Explain any swo categories of B-Condensation.
B-TETT ¥ AT T GEEW T 2 B-FEH & HE o
YR T TAEAET

. Discuss the effect of steric hinderence on the

Chemical Shift.
Tofom fqenen &1 TEEAE fTeamm W geq 9 99d
w1 T HIfST)

. Explain the Michaelis—-Menten and Lineweaver-
Burk plots.

HEhfaa-T=d X ETaei-a% 3TRE %l THSE |
. Write about 13-C-NMR spectroscopy in detail.
13-C-NMR Trahdt & faug & famr 9 sau)

. What are the advantages and limitations of the
ORD and CD ?

ORD d CD & oY o HHs &l «asy |
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

Eor - o' yvA-uw ‘o1’ iR ‘9’ 1 wuEl § fawifea §1 veew

g & EYER wo+ & W e
Section-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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fdor:- fo&<i 9) uvdl & S STl emw eTu SOl
TAHAR T I, T a9 a1 Afusdhad 30 =g |

1. (1

(ii)

(iii)

(iv)
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QUE—3
(3tfa &g ST u9)

TfiEifqa wINT 9% 999 4 3% &1 B
Give the structure of the following :
(@) Tropine

(b) Oestrone

=1 = 9= Sifee

(37) rats

(9) s

Give Von Brauns method.

I 9 fafy saEu|

How are Prostaglandins Catabolized in the
body ?

Treref-ed IR # &9 9fFad 2 € 2

What are sources of Vitamin C 7?7 Give
diseases caused by its deficiency.
faerfid C & &d =01 © 7 396! & 9 39 a1
I FAET |

(v) What is the difference between Pyradizine
and Pyrazine ?

fiRreria iR oS # a1 e=R ¥ 2
(vi) What is the chemical basis of Enzyme
Catalysis ?
T=TEH IO 1 THEHF SUR 1 8§ 2
(vii) What 1s Cotton Effect ?
HeT q9E F 2
(viii) Explain Transition State Diagram.
THIU STET 3 Sl THHAEY |
Section-B 4x16=64
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
gus—o
(g I q99)
et ;- 5=l w® vl & SW T T ST IWOH
sfererae 200 5t H UREifHa wifSe) ga@w 99
16 37 1 Tl
2. Explain in detail structure and synthesis of

Nicotine.

TR 1 T U9 9N @ fosR 9 9Eest |
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